SUKKOS CHALLENGE

T'aVN Mmoo

1. What n>an is only said on mwn w9, 71195 D and Nad Mmywin?

2. What is unusual about the NP of the first two days of m>0?
a. When is the only other time that we have such a nNP?

3. When else in the nmn is there a mxn to take o1 1 together?
4. What mitzvah was done in the w1pnn n°2 on MO but only on some years?

5. When is the only time in D" that it explicitly says that a no>10 is built?
a. What are the first two instances that the word m» o is found in the
n°?

6. What are four ways to have 9w5 »nX for one person but not for another?

7. Aside from all the various ©»n that we do on N7 NN, what is
strikingly different about the NN P of No9aN NXNMY?

8. The two of us are NNYINT NNNN,
We have no connection to each other,
However in a year that | am not he is not,
Through our absence a myn is strengthened,
| have a connection to m>© he does not.
Who am I? Who is he?

9. He and | are so far yet we are so close,
We are both read on the same day,
He contains m»Ha for all,
| contain m592 for a nation.
We both have a connection to »nnnnw ns.
Who am I? Who is he?




Answers

1. The nYan of o9y YW 117 while the wmp N is open.

2. It was the same NN two days in a row.
a. When vnn wnA is two days

3. To beMvn a ynsn, a NYOIM N IR NY , MY and anN are taken.
4. The msn of Ynpn is on Mo during the year after nunw.

5. apy built m> o for his animals on the way back to Y9 YIx
a. 1) apy named a city Mmoo  2) The YN »1 traveled from ponyy to mow.

6. 1) An>»InX must be “yours” therefore if it lent to a second person he is not X8y with it.
2) AxanN that is 9on (missing a piece) is 9109 in >N on the first day but in YIxY YN it is 9109 on
both on the first day and on the second day. Therefore on the second day of 210 o» it will be
9109 to a N IND YN )2 but be qwo for a YN N IN 2.
3) The maximum size that a »1NX 9v5 can be is the amount that a person can lift. Therefore for
a large person an »nNNX may be w5 but for a small person it can be 0.

4) A light black »nx is qwo if used in a place where it is normal for such ©»9nX to grow.
(V" AN ynv)

7. ltisthe only nwna that isn’t lained on a nav.

8. The two of us are NNINT NN,
We don’t have a connection to each other,
However in a year that | am not he is not, - we are both not done
Through our absence a msn is strengthen - v
| have a connection to m>v he does not.
Who am I? Who is he? -a%Y and 10w’

9. Next week....

Last week’s Riddle:
| am found in quantity in four instances in the "7,

Once when praising a wife’s virtue, - (0,M) NIV PN PONX NN

Once by an emotional embrace, - (7,59) 192 NPYWN PININ DY Han
Once by nwn and y70X counting of Y 555, - (1V9,)) YNNI YN TP TWUN

Once by the maqy of bxw Hoo. -(N2,05) B2 TY 122 N MM
One of the instances is in this week’s nvna.

Who am I? - Dots

L,IND DNT 12 PR NPYY NTHIAN — NNHY IR
977090 TOON 12 TYT PNYY ,N7Y APY TIT N 192 1592 ,973 DNNAN 12 DINY YD
For questions, comments, or to subscribe, send an email to parshachallenge@gmail.com

Feel free to forward or distribute the Parsha Challenge.
MMNY NMN O

! The because the first days of mM210 always fall out on the same days as mwn WA
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